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Note : (1} Attempt as many a:jlieatlnna.ﬁu you ¢an, Each hﬁh:'uﬁd'n carries 3 marks.
One mark will be degtucted for each incorrect answer, Zera mark will be
awarded for each unattempted question.
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(2) If more than one alternative answers ‘seem to be approximate to the
' correct answer, choose the closest one. |
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1. The inénrmcﬂy matched pair among the I‘n]lnwi.ngl ‘
(1) nesosilicates—forsterite (2) cyclosilicates—talc.
(3} phyllosilicates—muscovite (4) tectnm:n:earaﬂhochu

2. Which of the following is not a mincral?
(1) Olivine - (2) Talc (3) Calcite {#) Quartzite
(345) L 1 ' P.T.0)
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3. Which is not a polymorph of Al;8i0;?
(1) Kyanite (2) Calcite (3) Sillimanite {4} Andalusite

4. Which mineral shows double hardness?
{1} Magnesite (2) Quartz (3) Feldspar (4) Kyanite

8. Hardness of fluorite is

(1) 3 e UEYTT T s

T EIPN SR : ; I
6. Augite crystallized in which crystal system? .

(1) lsometric system - {2y Monoclinic - =

(3) Triclinic . [-})_ | Orthorhombic

7. The mnmmum ﬁum‘th::er-of ml of ;ymmau;:,r gy found in crystal system.
(1) 13 (@ 10 (3} 22 M9

8.  Match the crystal sysiepe with correat mumber of clasess

Group—I (Crystal System) Group—1II (Classes)
P. Isometric 1. 3
Q. Orthorhombic & - “ g iz
R. Hédagorial © 3T
"B Tetragonal = ' 4, 5

(1) P-1, Q2, R-3, S-4 - @) P-4, Q-1, R-3, 8-2

(3} P-3, Q4, R-2, 8-1 ... . (4) P-4, Q-1, R-2, 8-3

(348) 2
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10.

11.

13.

13.

14,

18.

(348)

15P/205/2

Total number of classes in crystal system is
(1) 22 (2) 6 . (3) 32 (4) 13

is an imaginary plane which passes through the centre of crystal and
divides it into two equal parts where one part is the mirror image of the other.

(1) Axial plane (2] Reference plane
(3) Plane of symmetry (4) Twin plane

Which one is not a physical property of a mineral?
(1} Hardneas (2) Streak (3) Form (4) Extinction:

Which crystal is the non-pleochioic system?

(1) Hexagonal  (2) Triclinic (3) Cubic (4) Tetragonal
Biaxial minerals are not belong to crystal system.
(1) triclinic {2) tetragonal

. 13} monoclinic | (4) orthorhombic

Which mineral shows the double refraction?
(1) Caicite (2) Quartz (3) Feldspar {4) Galena

Streak of hematite is
(1) black colour | () yellow
(3} chiity red (4) None of these
3 (P.T.C)
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18. Point of maximum curvature in fold is defined as
(1} hinge point (2) inflection point

(3} plunge (4) centre of curvature

17. Transcurrent fault is & type of

(1} normal fault (2) reverse fault

(3) stike-glip fauit (4) oblique fault

18. A plane is dipping 45° (True ;:lip] towards HE; the ap'pamnt diﬁ of plane can be
(1} >90° (2) only-Q° (3 43° ta O° . - (4] 90° to 45!

19. True dip of a plane is 30°, what will be head of the plane?

{1} 45° (2) 60° (3) 90° (4) 0°
20. The direction of line along which an inclitied bed or plane interaects a horizontal
plane is known as ' .
(1) fault trace (2} dip direction
(3} strike (4) plunge
21. Point of maximum elevation in ﬁ)ld is termed as
(1) hinge point  (2) tip point = (3) crest (4) tough

{345)
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The net slip in following fault is

(1) ab (2) ac 3 be (4) ad

- Unconformity is define as

(1) plane representing the time of non-deposition and erosion

(2) plane of asymmetric deposition
{3) plane of joint and fault on regional scale

(4} plane of faulting
Which one is not a deformational structure?

(1) Fold (2) Fault (3) Joint (4) Disconformity
Match the following : :

Group—I (Termas) Group—II (Definition)
P. Cross-section 1. Dip isogones that are perpendicular to

bedding throughout the folid
A vertical plane through a fold

N

Q.. Profile section

R. Similar fold - 3. Dip isogones that are parallel to each other

8. Paralle] fold 4. The surface perpendicular to the hinge line
{1} P-1, Q-3, R-4, 53 (2) P-4, Q-2, R-1, 8-3

{3) P-4, Q-2, R-3, 8-1 4) P-1,.Q-2, R-3, 84

(348)
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a7.

a8,

30.

31.

(348}

[ntermediate principle stress (o2) is vertical in -
(1) normal fault {2) strike-slip fault
(3) reverse fault (4) thrust fault

Which of following is a correct statement? -

(1) The angle between fold limbs as measured in the cross-section is called the
interlimb angle _

(2] A fold with a horizontal axial surface by definition must have a horizontal
hinge line, a_nd i1s called a reclined fold ,

(3) The high point of the hinge line in a doubly-plunging fold is called the
culmination

(4] In an anticline, the beds are younger towards the core

is an area of older rocks surrounded by younger rocks.
(1) Inlier (2) Outlier (3) Dome (4) Basin

having net slip equal to dip-slip and rake of net slip 90°.
(1) Dip fault : (2) Dip-slip fault
(3) Strike fault (4) Bedding fault

is defined as a fracture in & rock between the sides of which there is no
observable movement.

(1) Fold (2) Faukt (3} Joint (4) Shear zone

A topographic contour is defined as

(1) line joining the point of equal stratigraphic horizons
(2) line joining the point of equal elevation

(3) lLne joining the point of equal thickness

(4) line joining point of same age rocks

6
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32. The surface waves are
(1) P-waves . [2) S-waves

{3) both P and S waves (4) L-waves

33. Conrad discontinuity sepdrates boundary between
{1} lower crust and upper mantle
{(2) upper mantle and lower mantle
(3) outer core and inner core

{4} upper crust and lower crust

34. The new oceanic surface are created at plate margin.

(1) constructive (2) distractive (3) conservative (4} convergent

38. Match the name of ucienﬁat {(Group 1) and their famous theories (Group II)

Group—I Group—I
P. Alfred Wegener 1. lsostasy
Q. Airy 2. Sea floor spreading
R. Herry Hess 3. Theory of continental drift
8., Pratt 4. Big Bang theory
(1) P-1, Q-2, R-3, S5-4 {2} P-3, Q-1, R-2, S-4
(3) P-4, Q-1, R-2, 5-3 (4} P-1, Q-2, R4, S-3
(348) ' 7 | (P.T.0.)
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37.

39 L |

41.

41,

(348)

Which of the following is supercontinent?
(1) Gondwanaland (2) Laurasia
(3) Pangea (4) Panthalassa

Mechanical erosion mmmttakuphmmfoumngmmwr
(1) Abrasion | (2). Attrition
(3) Cavitation (4) Dissolving action

An isolated table-land area with.ateep sides called as

(1) knick point (2) escarpment - (3] mess (4) paneplnjna

Which one is not a river pattern?

(1) Antecedent ' (2) Consequent (3) Insequent (4) Trellis
Which of the following term is not related to wind erosion?

(1) Deflection (2) Traction (3) Abrasion (4) Attrition
Blow-outs formed due to

(1) wind (2) river (3} glacier (4) impact
Fiords m formed by action of

(1) wind {2 river  (3) glacier [4) lake
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43. - Whmh of the following is not erosional process of continental glaciers?
(1) Plﬁcking {2) Avalanching
(3) Rasping - {4) None of the above

| 44. Caverns are related to
(1) underground water (2} river
{3) glacier {4} wind

48. Blind valley is formed due to ._
(1) erosional (2) deposition (3) steep slope  (4) surface runoff -

46. In the following, which combination is wrong?
(1) Knick point, escarpment, Mesa (2} Plucking, avalanching, rasping
B3) Hamada, Yardang, sand dunes (4) Pedeutn.l cirques, arete

4;'!. Fine grained igneous rocks are
{1} intrusive body (2) plutonic
(3) extrusive body - (4) sedimentary body

48. Hard, massive, compact with interlocking grains and absence of Fossil and
bedding is the essential feature of

(1) igneous rocks ) (2) sedimentary rocks
(3) metamorphic ~ (4) limestone

(348 9 | (P.T.O)
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B1.

Volcanic equivalent of granite is

{1} basalt (2) gabbro (3} rhyolite (4) diorite
Gabbro is a type of igneous rock.

(1) volcanic (2} plutonic

1:?;| hypabyssal _ (4} mﬁtaaadirqcntmy

Which one is not concordant body?

(1} Laccoliths (2) Lopoliths (3} Phacoliths (4) Batholiths
Which mineral crystallized last from the magma?

(1) Olivine (2) Quartz (3) Hornblende (4) Labradorite
The ‘am structure’ is also known as

(1) pahochoe (2) ropy lava

(3) blocky lava (4) flow structure

The occurrence of foreign materials within igneous rocks are formed a structure
that is

{1} xenolithic structure (2) myrmekite structure

{3) sheet structure (4} amygdaloidal structure

10
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B85. When the igneous rocks made of only glassy materials known as
(1) holocrystalline | (2) hemi crystalline

(3) holohyaline (4} semihyaline

B6. Perlitic cracks in crystal represent the conversion from

{1) basic magma (2} acidic magma
(3) glassy condition (4) plutonic condition
87. Eutectic point is a | .

(1) univariant {2) invariant (3) di-varient {4) tri-varient

88. Silica content in basic igneous rock is

(1} 44 to 55% - (2) more than 65%

(3} 55 to 65% ~ (4) more than 80%

B9. Gem quality olivine is termed as )
(1} norite (2) satin-spar  (3) peridot (4) ruby

60. Intergrowth of quartz and feldspar resulting
(1) perthite _ (2) orbicular structure

{3} graphic texture (4) myrmekite structure

(345) 11 (P.T.0)
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61. Correctly match the following : ;
Column—A Column—B

P. Laths of plagioclase are totally surrounded 1. Spherulitic texture
in a coarse grained matrix of pyroxene

crystals

Q. Smallérgmhmofmemhemlm 2. Ophitic texture
completely enclosed in large

R. Plagioclase graina show a preferred 3. Poikilitic texture
orientation due to flowage '

S. Spherical intergrowths of radiating 4. Trachytic texture
quartz and feldspar replace glass -
as a result of devitrification

(1) P-2, Q-3, R-4, 8-1 {2) P-1, Q-2, R-3, S-4

3) P-2, Q-4, R-3, S-1 (4) P-1, Q-3, R-2, 8-4

64. Principle of uniformitarianism is proposed by
(1) William Smith {2) James Hutton
(3) Gottlob Worner (4) Harry Hess

63. Which one is moat atable mineral?
(1) Quarts (2) Feldapar .{3] Zircon (4) Olivine

64. The phi-scale is given by
(i} $=-log, d F 4 (2) é=-log, d
(3) $=-log,, d ' (4) ¢ =log; (-d)

(348) | 12
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68. What is the sand particle size?
(1) 2 to C-092 mm i2) 4 to 2 mm
(3) 2 to 0-0625 mm {4} 2 to 0-0B25 mm

66. Crain size analysis of clastic rock ecannot interpret
(1) environment . ; {2) source rock

(3) energy flow (4] nature of transportation

67. The river sands are distinguished by |
(1) positive skewness {2] negative skewness
(3) high porosity (4) sand dunes

68, The ratio of number of grain to grain contacts to the total number of grains
counted in the traverse ia

(1) packing density (2} packing proximity
(3) true porosity (4} true density

69. The diamictic conglomerate are characterized by
{1) high porosity . (2) -high matrix
(3) low matrix (4) zero matrix

70. Endogenetic rocks are deposited due to
(1} precipitation (2) river déposition
{3) volcanic ash (4) mechanical weathering

(348) 13 (P.T.0}
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T1.

73.

74.

78.

76.

(948)

Graywacke is a type of rock
(1) voly:anic rock (2) non-clastic sedimentary
{3) rudaceous sedimentary rock (4) arenaceous sedimentary rock

What is mineralogical maturity of sandstone? .
(1} Ratio of quartz to the olivine (2] Ratio of feldspar to the quartz
(3) Ratio of quartz to feldspar (4) Ratio of flaky minerals to feldspar

At 20° temperature, what will critical Reynolds number for laminar to turbulent
flow?

(1) 500 (2) 1200 (3) 700 (4) 1000

Calcium carbonate could not foﬁnd in
(1) above CCD  {2) below CCD . {3) below ACD {4) above ACD

Which of the following, original components bound together at time deposition?
(1) Mudstone {2) Wackestone (3) Packstone {4) Boundstone

Which of the following statement is false?
{1) Graded bedding shows the grain size varistion within a bed
{2) Convolute bedding a deformed bedding structure

(3] Secondary sedimentary structures form before the diagenesia of a
sedimentary rock '

(4) Hummocky cross-stratification is primary sedimentary structure
14
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The metal content in an ore is called as

(1) grade (2} tenor (3) rank (4) gangue

deposits comprise an assemblage of high temperature metamorphic
minerals.

(1) Hypothermal | {2} Mesothermal

(3) Skarn " {4) Residual

Among the following which one¢ does not belong to the factor affecting the
residual concentration? -

(1) Climate (2) Local relief

(3) Existence of proper drainage (4) Gravity

. is a hard mantle which is produced by useless residual materials and
desiccated product of oxidation on the surface.

{1) Gossan (2} Overburden (3) Gangue (4) Placer

Goethite is a/an

(1) silicate (2) sulphide (3) carbonate (4] oxide

Tenorite is8 an ore minersal of

(1) iron '(2) manganese  (3) copper (4) lead

15 (P.T.O.)
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87,

(348)

Which of the following is the ore mineral of manganese?
(1) Smithsonite (2) Haématite |
(3) Bornite (4) Braunite

Manganite ore mineral has been found in the rock of
(1) gondite : (2) charnockite
(3) orthoquarzite _ (4) marl

Bauxite deposits occur as

(1} disseminated (2) loades

(3} blanket ~ (4) hydrothermal solution
Chromium depesits occur in

(1} granite (2] limestone

{3} acidic rocks ' (4) ultrabasic rocks

Kudramukh is famous for

(1) Banded Hematite Quartz (BHQ)
(2) Magnetite

(3) Chromite

(4) Psilomelane

16
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Ruby is a gem .vn.riety of

{1} Olivine (2) Labradorite (3) Quartz (4) Corundum
——— ia an imperfectly crystallized diamonds with inclusions.

(1} Bort | (2) Ballas (3) Carborande {4} Moonstone
Secondary product of Diaspore and Gibbsite is

{1} Bohemite - {2) Bautite

(3). Hydrogillite - (4) Amazon stone

Match the following and choose the correct option !
Column—A Column—B

P. Muscovite 1. Residual concentration

Q. Bauxte 2. Magmatic segregation

R. Capper 3. Pegmatitic deposits

8. Chromite _ 4. Hydrothermal solution

{1} P-4, Q-2, R-1, 8-3 (2) P-3, Q-1, R-2, S-4
{3) P-3, Q-1, R4, 8-2 (4) P-4, Q-2, R-3, 5-1

Which one among the following is not a metamorphic rock?
{1) Hornfels (2} Orthoquartzite
(3) Metagranite {4) Biotite gneiss

17 | P.T.0)

»
collegedu nia
o - India’s largest Student Review Platform

el



15P/205/2

98,

97.

(348)

Which one of the foi]nwing belongs high grade metamorphism?
(1) Epizone (2) Acme zone  (3) Mesozone (4 Katazone

structure is found in the rocks composed of equidimensional minerals.
(1) Gneissose (2} Maculose {3} Granulose (4) Schistose

Which rock is a parametamorphic?
{1} Metachamokite (2) Metaqurtzite

(3) Biotite gneiss " (4) Khondalite

Which one from the following is non-foliated metamorphic rock?
(1) Gneiss (2) Phyllite {3) Siate (4) Quartzite

ia the high tcmpcratlire and high pressure metamorphic facies.
{1) Blueachist  (2) Greenschist (3) Eclogite (4) Amphibolite

The term ‘blast or blastic’ used as prefix in the case of
{1} palimpsest texture (2) aphéniﬁc texture

(3) phanitic texture ' (4] glassy texture

In the Al;SiO¢ polymerphs, which shows highest grade of metamorphism?
(1} Andaluasite (2) Kyanite

(3) Sillimanite (4) A]l of the above

18
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100. In the following indicates the ascending order of temperature of formation
(1) Eclogite, Greenschist, Zeclite, Blueschist
(2) Greenschist, Blueschist, Eclogite, Granulite
(3} Zeolite, Amphibelite, Granulite, Eclogite
{4) Blueschist, Granulite, Amphibolite, Eclogite

101, Omphacite and Pyrope Garnet are the representative minerals for
(1) Zeolite facies (2) Greenachist facies
{3) Glaucophane-schist facies- (4) Eclogite facies

102. Which is not related to metamotrphism?
(1) Wind (2) Presaure
(3) Temperature (4) Chemically active flud

103, An uniform pressure is also called
(1) direct pressure (2) hydrostatic pressure
(3) compression (4) tension

104. —— metamorphism occurs around larger intrusives at comparatively
low temperature.

(1) Pyrometamorphism (2) Contact metamorphism
(3) Metasomatism (4) Auto-metamorphism

(348) 19 (P.T.0.)
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108. Which one of the following is lithestratigraphic unit?

(1) Eratham (2) Acme zone (3) Series (4) Formation
106, The Paleozoic era is restricted between

(1) 65 to 225 Ma {2) 1-8 to 65 Ma

{3) 570 to 2500 Ma {4) 225 to 570 Ma

107. Match the following Columns and give the correct answer :

Column—A 'Column—B
P. Blueschist facies 1. Chlorite
Q. Greenschist 2. Plagioclase
R. Granulite - 3. Mg-Gamet
8. Eclogite 4. Glaucophane
. (1} P-4, Q-1, R-2, 8-3 (2) P-1, Q-4, R-3, 82
(3} P2, Q-3, R-1, 8-4 (4) P-3, Q-2, R4, 8-1

108. Correctly match Column A and B :

Column—A Column—B
P. Shale 1. Quartzite
Q. Sandstone 2. Amphibolite
R. Granite 3. Slate
S. . Basait 4. Gneiss
{1} P-1, Q-2, R-4, 8-3 | (2) P-2, Q-1, R4, 8-3
(3) P-3, Q-1, R-4, 8-2 (4) P-4, Q-3, R-2, 8-1
(348) . | 20
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109. Which cra is called as ‘Age of Reptiles'?
(1) Palacozoic- era (2) Mesozoic cra
(3) Cainozoic era (4) Proterozoic era

110. Which formation belongs to the Lower Gondwana Sequence?
(1) Zawar (2) Poladpur  (3) Rohtas (4} Iron stone

111, Semri Group is related to the
(1} Upper Vindhayan {2} Lower Gondwana
(3} Lower Vindhyan {4) Upper Gondwana

112. Which is not related to coalfield?
(1} Chandrapur (2} Sohagpur (3) Rampgarh (4) Panna

113. Arranged in correct sequence from older to younger :
{1) Sargurschist complex, Peninsula gniessic complex, Dharwar super group
(2) Patcham, Umia, Katrol, Chati
(3} Karharbari, Raniganj, Barakar, Kulti
(4) Papaghani, Nallamalai, Cheyair, Kistna

114. Which one of the following separate the Eastern Dharwar to Western Dharwar?
{1} Peninsula gneissic complex (2) Bababudan |
(3} Rani Bennur ' (4) Closepet granite

(348) | 21 ; - (P.T.O)
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11B8.

116.

117.

118.

119.

The maximum Genera and Speciea in Upper Gondwana Sequence found in
{1} Mahadev (2} Jabelpur (3) Rajmahal ~ (4) Maleri

Kaladgi Group belongs to
(1) Archaean cra {2} Proterozoic cra
(3) Palaeozoic era {4} Mesozoic era

The general trend of Aravalli Group is

(1) NW-SE 2) E-W (3) ESE-WNW.  (4) NE-SW
Dhokpathan fﬁrmation is overlain by formation.
(1) Pinjor (2) Tatrot (3) Nagri (4) Chinji

Match the following :

Column~—A Column—B
P. Dhosa Qolite 1. Gondwana Sequence
Q. Mansar 2. Dhawar Super Group
R. Umaria Marine Bed 3. Sausar Group
8. Hutti Goldfield 4. Jurassic of Kutch
(1) P-3, Q-1, R-4, 8-2 2) P-2, Q-4, R-1, 8-3
(3) P-1, Q-2, R-3, 84 {4) P-4, Q-3, R-1, S§-2

130. Which is not an invertebrate fossil in the following?

(348)

(1) Productus {<) Ptylophylum (3} Trigonia . (4) Murex
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133.

133.
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Which one is an index fossil?
(1) Trilobite (2) Natiloids (3) Gastropods  (4) Bivalves

Maich the following

Column—A (Phylum) Column~—B (Species)

P. Brachiopoda 1. Turritella

Q. Cephalopoda 2. Goniatite

R. QGastropoda 3. Sprifer

3. Bivalvia 4. Spondylus

(1) P-1, Q-2, R-3, S5-4 (2) P-1, Q-3, R-2, 54
(3) P-3, Q-1, R4, S§-2 (4) P-3, Q-2, R-1, 5-4

What are the characteristics of an index fossi?
(1) Wide geographical range and limited time range
(?) Both time and geographical ranges should be wide

~ {3) Limited geographical range and wide time range

124.

128.

(348)

{4} None of the above

Trigonia has dentition pattern.
(1) lsodont {2} Schizodont {3} Heterodont (4) Desmodont
The coiling of shell in is sinistral.
(1) Trochus (2) Murex (3) Planorobis (4) Physa
23 , P.T.0.) |
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126.

137.

128,

139.

130.

(348)

Which is not the sub-class of Cephalopoda?
(1) Nautiloidea  (2)- Ammonoidea (3) Acephala

(4) Dibranchia

‘l‘hehodynflTrilobitciam&de up of three distinct parts known as Cephalic

Shield, Thorax and ——.

(1) Ocular piates | (3) Genital plates

(3) Corona | ' {f; Pygidium

Ammonoidea is a/fan
(1) trace fomail (2) index foesl]
(3) living fosail : (4) plant foasil

Ceratitic auturc-l{inel have

(1) pointed lobes and rounded saddle

(2) rounded lobes as well as rounded saddle
(3] divided lobes and rounded saddle

(4) divided lobes and divided saddles

Mouth and Antus are centrally located in
(1) regular Echinoids

(2) irregular Echinocids

(3) both regular and irregular Echinoids

(4) neither regular Echinoids ner irregular Echinoids
s *
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131. Both the valves are held together by means of muscles in
(1) articulata brachiopods (2} insrticulata brachiopods
(3) both (1) and (2) ~ {4] None of the above

1?3.' Barail Series overlain by
(1) Tipam Series (2) Dupitila Series

(3) Surma Series (4) Jaintia Scries

133. Dinosaur commonly found in which formation?
{1) Lameta Bed (2) Bagh Bed (3) Deccan Trap (4 Rajmahal Trap

134. The shell is equilateral and unequal in
(1) Acephala (2) Brachiopoda (3) Gastropoda {4} Ammonoidea

138. Pupilla is a
(1) Discoidal Shape Gastropoda (2) Conical Shape Gastropoda
{3) Cylindrical Shape Gastropoda  (4) Globular Shape Gastropoda

of the Echinoids.

136. Mamelon is the part of
(1) Apical disc  (2) Peristome  (3) Spines (4) Tubercle

187. Chromite deposits result from
(1} early magmatic dissemination  (2) early magmatic segregation
| {3) early magmatic injection (4) late magmatic segregation
| (348) 25 " | {P.T.0.)
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138. Rock Salt is found in which place of India? |
(1) Rajban (2} Rampur (3) Mandi (4) Manali

139. A rock that is porous but not permeable
(1) marble  (2) sandstone  (3) silt stone (4) granite

140. A rock-cut slope having inclination 40° due East. The jeint set most likely to
cause failure is the one dipping at

(1) 20°due 0  (2) 30°due E (3) 60°duc E  (4) 65° due E

141. Why hnaalt ia finer grained than gabbro?
(1) Basalt formed from quick cooling of magma
{2) Gabbro formed from quick cooling of magma
{3) Basalt has a malfic cnmp&uiﬁon
{4) Gabbro has a mafic composition

142. Rocks arc formed when magma
(1) erodes (2) crystallizes
{3) undergoes radioactive decay {4) weathers

143. Basic source of magnetism is
ti] charged particles alone (2) magnetic domain
{3) magm:tu: dipoles (4) movement of chargéd pa:ﬁcleﬁ

(348) | 26
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144, Obsidian is a/an
(1) metamorphic rock which contain high mafic mineral
" (2) igneous rock which contain high Fe and Mg
(3) volcanic glass containing high silica
(4) sedimentary rock formed by weathering of basaltic rock

148, According to Plate Tectonics Theory, most active volcanoes occur
(1} on continents (2} in large tectonic plates
(3) along plate boundaries "~ {4} randomly over continents

146. Match each i.teirm and choose the correct option :

Column—A Column—B
P. Felsic 1. Magma that flows out Earth’s surface
Q. Kimberlite 2. Dark-coloured rock such as gabbro that

is rich in Fe and Mg .

R. Lava 3. Rock that is rich in silica
S. Mafic 4.. Ultramafic rock that can contains diamonds
(1) P-1, Q-3, R-4, 8-2 {2) P-3, Q-4, R-1, S-2
(3} P-2, Q-1, R-4, 8-3 (4} P-4, Q-1, R-3, 8-2

147. Ores near Earth’s surface are generally obtained from
(1) waste-removal facilities
(2) underground mines
(3) open-pit mines
(4) bodies of water with high concentrations of dissolved minerals

{348) 27 (P.T.0.)
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148.

149,

180.

Whﬂiuﬁem&hﬁﬂmmemwnomglomemmnndm?

(1) Breccia clésts are angular; conglomerate clasts are rounded

{2} A breccia is well atratified; a nmglmmte ias poorly stratified -

(3) Brmhchuﬁmthcsﬁtofﬁdﬁebnﬂu;mnglomeﬁmchmmm
(4) Breccia has a compacted, clay-rich matrix; conglomerate has no matrix

Detrital sedimentary rocks are classified based on the

- (1) colours of the cementing minerals

(2) grain sizes of the detrital particles
(3) compositions of soluble minerals
(4) degree of compaction and lithification

Which of the following l@dtmentary roc:ka indicate long-distance transportation
of the sediments?

(1) Quartz arenite

(2) Breccia .
(3) Arkose (sandstone with lots of feldspar particies)
(4) Felapathic wacke

L & ]
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